a—Fp F%*{'}")b #ek 1

[1] wostickoTrD b o8 {a,} O—BFE

kDL,
(l) a; = 3, An41 = 4an

(2) a1 =6, Gnt1 =an +3

: (3) a1 =2, apy1 =0n+4n—2

4) a1 =2, apy1 =3a,+6

o B KA

KR E o BB {an} O—REE

KD X,

(1) a1 =3, Gnt+1 = 4an z%ft%i“ )
G- 34", |
(2) a1 =6, @ny1 =a,+3 (4./.-4‘ ,,>

On: +(n-1)«3
oA = 3n+3
(3) e1=2, anp1=0aa+4n -2 (fg%y)

N2zaes

ah = a,' 1“{{”_:;1/(4&"2)

. 2 +4. /(;4 /){(n /)+If 2(n- /)

=2+ 2ntn-1) - 2n+2

= 2+ 9M°-2n-2n12

= 2/'11‘4/1 1.4 :2(/12—211{-2) o
N={ant2 a,=2(/-2+z)=2z"ﬁ&‘yz7.

&1
Qo 2(n -2n42)
/a

(4) ay = 2, Apt+1 = 3an +6

Opu +3<3(0nt3) ‘
$030{0u+3 J1a2078Q¢3=2+43 =5
W 3 waz Q,+ 3=5-3""

(an=/>an+g?z
Cel®i®

O aﬂ :g‘.3ﬂ-/—3 H
, _ P
V4
AT EAM .
o am-/ = 30#”"6 C= 3C+6Ia:
}1“'5 ’3./8#2" End

aw-@eg RTINS
&n+«3:3(an+3)



va—brSC7L HFHiEX 2.

ORI > TR BNBHFI {an} O—BEE
R &, |

(1) a1 =2, any1 -0 =-5
(2) ai =‘9, Qpt1 = 307.

(3) a; = 2, Qpt1 = 3a',.‘— 2

(4) a1 =2, ant1 = an +37

B & KA

RORHI L > TED HILB MG {an} O—RHEE

Ko &,

(l)_al =2, an+1—an=;5
Rn= 2+ (n-DOx(-5)
cOp==Sn+T,

(%%%)

77 4 . -
(2) ay =9, Apyp1 = 3an (%be-{i’)
=l n-|  htl
On=9-3""=3%3"-3
n —__’/‘ i
| ' CeiEYZ

O~ 1 = 3@u-1)
W) ia.-1}etoda,-|-2-[-]
/A‘fﬁ SHs -1 _;/‘3”‘1.

B . _ h-/ .
NS IT- LT IRN =3 T__,;/
Oy = 30— 2 ‘

5 C=3c-2 <—H455K.
Oru—C =-3(Qu-¢) Af<e C=|
Cw-1 =300u-1) «

(4) a1 =2, apy1 = an+3" (B ¥
A (i £ 44
NZ2ng %

Llp
an:alfé‘? Mésu‘(sv“
Q3. M5

LS BN
= 2+g_1'3°3‘ <—1BHn-10

- S di3)og0
L 3" :
= Q-f- :
3~/ -
)  4+3”—3.
2
- 3" 1
2
n=1{latz Q,= 3;’ =2 A9, \
&7 n 4 '
. 3+
Qn = z
4

(DA @) &B R O-BBeLn3rm,
\%?%Z%I(xz"q. /‘00‘%‘219,(/13:,\“17\-1_“.



va—hkrSATL WX 3

[ rostickocrdbnBE5 {0} O—EE
RO X,
(1) a) = 12, An41 = Qp — 5

(2) a1 =4, @py1 =2a,+1

(3) a1 =4, a,,;,.l = 3a, + 2"

(1) ay = 12, Ant1 = Qp — 5

‘ @ a1 =4, Gnt1 = 2, +1 (ampa.,faﬂ' Do~ 20nt |
-y 0 =2Cc+ [ .
0n+: +1=2(Qnt | > K Qea= C = 2(Qe-c)

%ﬁ & I:EZ

&@ﬁe#au_xofﬁ;’&) b BEF {an} @—iﬂ&"lﬁ%

EJW)J:

(45%)
&m 2+n-1)0=5)
¢-0m_=“5}’t+(7//A

At

%’ignl {anf l 3

J0B Ot l= 4+ =8, ) 2 %eaz

C== &)

. 'n_’
an ) 02.
n-J
52"
4
3,1
. (3) ay = 4, Ont1 = 3an + 2" b}tﬂa_az ‘Ah“%h
| | @z e 2Mlzw3 - Q-.gsc*z.
0”"! ’ 3'(011 2" A““-C =2—(bn~c")

| 2”41 ‘ 2’2 2”*1
0 . 3
2“ tb‘» s bl’lfl />

e=~

Q. 4 _
ﬁl:_z—‘t—z“-z
(Dvé) 6ﬂ+/+/=’§(ﬁn+()
%i?ﬂ{buﬂmiwé botl=24]-3
/\&3 Fa”
bt 1= 33"
n~/ 3"
6’l=3‘33x—-l I:E_h_—l"’
a5
2“ 2'1“1
s 3" "
Qw2 —5‘7‘1‘1)7‘2
(1» a“ = Q,Bn_zn
- 7

‘—u? /5,. ¢ 1B TIRADNT 35




‘/El—l* AT ﬁ}iﬂ:'t 4

[1] ®ok#icr-ten enawu {an} O—fBE%
T RBE, |

(1) a1 =1, apy1 = %an

(2) a1 =2, apny1 = ap +47

a,
3a, +2

1
(3).a1= 5 Ant1 =

| n__ & 'ch

ROFHIC > TED DI SE {a,} o—ggrgg_»
R &,
(1) a1 =1, apy1 = %an (’-JCETZ.>

n-| [ \*
e (-
3 %54

é‘(’ =l
(2) 0,1—2 a,....l—a + 4™ j f % )

nzzo e 0, =0 1%_‘4_& 2*244 42

N W
4(2,” 17
bifia 42,
Qr=n '/Au‘sa 0(’_ 4+z_2szj7
) n - 3 .
Y
3 al‘=§, ot =
 Quxo sy ‘f”ét'z Zﬁ-ﬂ 7‘3‘;;*2' |
© I ja? 7 - ~3+2x—/"

Gnes Ou
. '5" =/7 edice Am-r "3‘*'25 |

n

bhfI—QA +3 b —a/*—g

b3 - chm)
HH3){ b, +3)"o‘v%m§/>+3 =5+3= ?

ne2 g .
hn ¢mzb 3‘82
b= 82" 3
i 823
| € TEm ek
Ty

L »aﬁ%’azt,z /—b,,%




Ya—bRSATL Bk 5 . ® RA_
‘ KOGHFI &> TIED B BHF {0} O—BFE
R &, a &

(1) ay = %, 2a,,+1 = 5a, .. é) &”1‘./ = Z ah
(% F@@D (5)" /
. T 32

//

[1] ®ogtrickoTed b a5 {a,} O—BE
Rk,

. .
1) a = 3 20,41 = 5an

(2) a1 3 dn+1—a,.+2n+1 Ff ﬁ-'ll .
nzaotcz (%2’{_>

Qu= 0 +£J(2£+')
. 3+2,__(n Nim- /)+l}~(—(n )

(2) a1 =3, 1 =0, +2n+1

=3+ her=1) t(n-1)
=3+n-hn+n-|
n=larz @, =/*2=3 2iK1E>

L1 Qu=n"t+2 /

= 3a,+1 + 10a, (3) a1 =0,a2=1, apq2 = 3a,.+i + 10a,
' B me 30;«/7'/00'1 -0 93

o< allfz +20n+/ = 5\(0””«%20“.)
%ﬁ?ﬂ{ﬁnu"“)du} /ah,é Dot 20,=(+2:0= [
Wt 5Ta7 Q128051 5" @

(3) a1 =0, a2 =1, any2

ROES, Quez = SOner = "2[&'1*/“'5\0")
BB Q=50 30 0, ~50, = [~ 5.0= |
LReb=2%ov Q. 5o = 2"l 6

@ Quat200=5""
-). ® anﬁ =50, = (——2)'&'
- W
7= - (~z> !
, 5" (- 2)
o O =2

7

2N = 30us + (00 0 BEIER
A ) IR P, ghict t=-2 &

' "%;& \msz{ful)a%m%ft%fa{jz
27 i‘F§(®@b\‘z=s)&»mam,a -t




a—rrS47I FEX 6
ROEHBIC L~ TED I BEF {a,} D—EEE
®DE, ' 4

‘ ‘ (1) a1;2, an+1=d,.+5

(2) a1 =1, @ny1 = 3an +2

(3) a1 =0, a3 =2, Gnyz —4ap41 +4a, =0

W E K4

N

WOREC &> TIED BB {a,} D—BRE

S
(1) a1 =2, @ny1 =0n +5

On=2+tMm-1)-5
K Qi =Sl’lf 3”
Ka

(2) a1 =1, Gny1 =300 +2
Qunt | =3C0atl)
eI 0t} @ANA QA+ |=1+]=2
ALt 35 a7 Qu+ | - 9.3%!
GO =2-3"= |

/.

(3) a1 =0, a2 =2, an+244an+'1 +4a, =0
Ouer = 40u + 400 =0 ~+- D £73¢
e an+2 ‘za'lﬂ = 2[@/&( = Zan)
$13) { ey - 200} 2708 0, -24, < 2-2.0-2
W2 502" () - Dgu = 2.2
v Q=2 0n +2n @

@ Ere 2" 2z n
Qe 2500 2~

2m—l" 22" 2n+¢
Ly-bil.o
e

Q& bm—u =bn+ B
$3){ba}tiz g0k b, -0 é‘\%—fé" /
445 %02 b, - 0+(,,-,),(§£ _

(& /’l." -2-

Qa _ =1

22
& - n -
'1 ah: " l X.Q =(flﬁ/)'2nl

——#

| f‘tz—%fff:o /é?égf,az Yy

: %i‘:’;ﬁw @ Ei’l‘dlékahﬂ_:/)an + 3‘0&,,‘
A IREREL $27 S



93—#%54’7» ﬁJHI:'t 7 _ M E R4

[1] ?k@%e{tFLJ:o’Cﬁ;’&b!‘oné%tﬁﬂ{an}0)——#&%% [1] Zk@%#FLJ:o’CE&bBﬂ’LZ)&W{a"}@—&IE%

R & ko X,
(1) ai =2, an+1=an—3 (1) a'1=2, a,,+1 =an—3 :
Q= 2t (=D (3)
("at’l:"3n+§//
E ’ R . e
(2) a3 =10, 2841 = an+6 . (mm_mz%ﬂ_%+6
am-l Qn+3

Qe = 6 ’S@"‘é)

W) 0= 6 Judod 0,~6 </0-6 - 4
e Lo

6 4(_—))1/
L 0;.-—4°(7)‘+6 )

o (3) a =1, a1 =30, +2n -1 : (3) a1=1,“a,.+1=3a,.+2'n.—1 \;«( (*)tqs .
o Qi = 30ne +42(’“'")‘ [
Quet = 30a t2n -1
Onz = Ona = B(Quu Qu)+ 2 A
" Qun= 0o = ba eIt byt 3hn t200 @
‘ , e Az = 3a,+2r/,-/ <3r/+2-]<4
bi=Q:-Qi=4-/(=3 .
o0& b,,*,+/= 3hat()
. jfzzj That l)la}wé botl=3t]<¢
‘ MGS Ga b+ | =4-3"!
bu=4:3"2/
AQmi‘ “ f-4 3h-|./ v )
Q&7 aml,’an = 43}'_"/
—) 047 Quy=30u = 2n—)
20n :4-‘311.-,-214 -
G Qu=2:3"-n -
— 7




